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Properties of Triangles

Inany AABC, prove that (b + c)sin? = acos(B;Cj :

Inany AABC, prove that (a + b)sin% = CCOS(A; j

oy}

Inany AABC, prove that (a—b)cos% = csin(A; j :

vy}

In AABC, prove that »_a(sinB—sinC) =0.

Inany AABC, A=45", B=60",a=5cm, find b.

Inany AABC, A=30", C=45",a=2cm, find C.

Prove that 2(bccos A+cacosB +abcosC) =a® +b* +c?.
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Prove that bccos A+ cacosB +abcosC = m.

Show that a(bcosC —ccos B) =b* —c?.

In AABC , Prove that R(a® +b® +¢?) = abc(cot A+ cot B+ cot C)

Inany AABC, prove that a®> +bc =b? +¢?,if A=60".

Find the third side of a triangle, given b =2cm, ¢ =3cmand A=60".

Inany AABC, b=+/3, c=1,A=30,find a.

Inany AABC, a=+/3+1,c=2,B=30,find b.
Prove that (b+c)cos A+ (c+a)cosB+(a+b)cosC=a+b+c.

Show that a(b® +c¢*)cos A+b(c”® +a*)cos B +c(a” +b?)cosC =3abc .
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